MITSUBISHI

e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




MITSUBISHI

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 3 info@parsrot.com




Rot sy

= Land

3000GT

MITSUBISHI
1991-1999
|
Mi-12301
Rotbasi
On
MB616286
2003-2006
|
Mi-14482
Z-Rot
On
4056A040
(GAW) 2010 after
|
MI-19477 MI-19496
Denge Kolu Denge Kolu
Arka Alt Arka Alt
4113A011 4113A136
MI-19497 MI-13473
Denge Kolu Rot Mili
Arka On On __—q).
4117A050 M14X1,5-L=340mm
4422A076
|
MI-14486 MI-14487
Z-Rot Z-Rot
Arka Sagd Arka Sol
L=80mm L=80mm
MN184194 517848
MI-11734 MI-12481
Rotil Rotbasi
On On
4013p444  M14X15
4422A052
|
MI-11474 MI-16478
Rotil Rotilli Salincak
On Alt On Sag Alt
4013A009 4013A428

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

= Land MITSUBISHI
ASX (GAW) 2010 after
MI-16479 MI-14470
Rotilli Salincak Z-Rot
On Sol Alt On
4013a427  LF265mm
MN101368
|
MI-20368 MI-20369
Salincak Burcu Salincak Burcu
Orta Arka
4013A282 4013A282
1995-2000
MI-20301 MI-13703
Salincak Burcu Rot Mili
On Sol Alt ig On
30818467 M12x1,25-L=310mm
MR244901
VOL-12441 VOL-11445
Rotbasi Rotil
On On
M12x1,25Rht MB303374
MB241982
MI-16706 MI-16707
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
MR915770 MR715769
MI-14410 MI-14716
Z-Rot Z-Rot
Arka On
Only:Carisma1.8It L=75mm L=201mm
MB809354 MR272116
|
VOL-14440
Z-Rot
On
L=200mm
30884358

parsrot.com

info@parsrot.com



—
sy L and

MITSUBISHI

————— - ——— ]
CARISMA 1995-2006

MI-19724
Denge Kolu
Arka Sagd
MR491348

MI-19725
Denge Kolu
Arka Sol
MR491347

CARISMA

MI-13713  MI-12711
Rot Mili Rotbasi
== On On
M12x1,25-L.=316,5mm M12x1,25
MR403027 MR485672
: MI-11714 MI-16718
Rotil Rotilli Salincak
OnAlt  OnSag Alt A
D=018mm  \iRg16134
MR916134
MI-16719 VOL-14439
Rotilli Salincak Z-Rot
On Sol Alt Arka
MRot6133  -=103.5mm
M884359
MI-717
— Z-Rot
On
MB241974
COLT -1l 1978-1988
-, Mi-12201
(.\ .; Rotbasi
On Dis
M14x1,5Rht
MB527650
1988-1992
|

MI-20228

Salincak Burcu

n
* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrc')\t?ﬁs:om-ﬂ:’

MB573524

info@parsrot.com



Rot sy

== Land MITSUBISHI
COLT 1988-1992
|
MI-13423 MI-11402
p— Rot Mili Rotil
On On Alt
MR297969 MB001696
MI-14410 MI-14411
Z-Rot Z-Rot
Arka On
Only:Carisma1.8It L=75mm L=60mm
MB809354 MB573043
MI-13413  MI-16427
Rot Mili Rotilli Salincak
On On Sag Alt
12x1,25Rht-L=293mm MB912078
MB553249
Mi-16428
Rotilli Salincak
On Sol Alt
MB912077
COLT 1992-1996
| |
Mi-13423
— Rot Mili
On
MR297969
COLT 1996-2002
| |
MI-19725 MI-19724
Denge Kolu Denge Kolu
Arka Sol Arka Sag
MR491347 MR491348
MI-12401 MI-11774
Rotbasi Rotil
On On Alt
M12x1,25Rht MR241342
MB241982

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land

COLT

Vi
MI-13600 MI-12601
Rot Mili Rotbasi
On On

On Sag Alt Arka

On Sol Alt Arka

MITSUBISHI

2002-2012

M12X1,25-L=310mm M12X1,25
MR977606
|
MI-11604 MI-16608
Rotil Rotilli Salincak
OnAlt  OnSagAlt A
MN186218 4543302007
|
MI-16609 SM-14110
Rotilli Salincak Z-Rot
On Sol Alt On
4543301907 ~ L=325.5mm
MR961477
yic 1995-1999
|
MI-12301 MI-16307
Rotbasi Rotilli Salincak =
On On Alt On
MB616286 MR296295
MI-16308 MI-16309
Rotilli Salincak Rotilli Salincak

MR296320 MR298319

ECLIPSE 4G 2006-2011
| |
MI-14620
e Z-Rot
g ! Arka
_ MR589437
ENDEAVOR 1st Gen 2004-2011
| |
MI-14230

oy Z-Rot

Arka
* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrc\;t‘?»som-; g MR589337 ¢ info@parsrot.com



Rot sy

== Land MITSUBISHI
Expo 1991-2004
MI-14447 MI-14448
Z-Rot Z-Rot
On Sag On Sol
L=51mm L=51mm
MB808076 MB672370 -
HY-12201 HY-14250
Rotbasi Z-Rot ,
On Arka g
M12x1,25Rht L=115mm h
MB912076 MR267875
GALANT 9th Gen 2004-2012
|
MI-14620
Z-Rot
Arka
MR589437
GALANT 1980-1984
| |
MI-12101 MI-12102
Rotbasi Rotbasi
On Dis On Sol i¢
M14x1,5Lht M14x1,5Rht 4
MB378704 MB166980
GALANT 1983-1988
| |
, VOL-11445 MI-13204
Rotil Rot Mili
On On . -—*
MB303374 ManuelSteering M14x1,5Rht-L=293mm
MR455425
|
MI-12301
(=]
Rotbasi
On
MB616286

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

= Land MITSUBISHI
GALANT v 1988-1992
|
MI-13603
Rot Mili
e On
M14X1,5Rht-L=229mm
MB949343
GALANT \") 1992-1996
| |
MI-16107 MI-16108
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Ust
MR162804 MR162803
MI-14411 MI-12301
Z-Rot Rotbasi
On On
L=60mm  \ig616286
MB573043
MI-16309 MI-16308
Rotilli Salincak Rotilli Salincak
On Sol Alt Arka On Sag Alt Arka
MR298319 MR296320
MI-16307
Rotilli Salincak
On Alt On
MR296295
Vi 1996-2004
CR-14407 CR-14406
Z-Rot Z-Rot
On Sol On Sag
MR297333 MR333763
MI-12301
Rotbasi
On
MB616286

parsrot.com

10

info@parsrot.com



Rot sy

= Land MITSUBISHI
GRANDIS 1st Gen 2004-2011
|
MI-13163 MI-14166
P Rot Mili Z-Rot Pamy
On On Sag
4422A077 MR594340
| |
MI-14167
Vo Z-Rot
. On Sol
MR594339
2000-2005
|
MI-12111  MI-12112
Rotbasi Rotbasi
On Dig Onig w
M16x1,5Lht M16x1,5Rht
MR241032 MR241031
|
MI-16644
Rotil
On Ust
MR241024*
(K_T) 1986-1996
|
MI-16127N  MI-16128N
Rotilsiz Salincak Rotilsiz Salincak
On Sag On Sol
MB109513 MB109512
|
MI-16127 MI-12102
Rotilli Salincak Rotbasi
On Sag Alt On Sol i¢
MB109s13  M14x1,5Rht d
MB166980
|
MI-16128 MI-12101
Rotilli Salincak Rotbasi
On Sol Alt On Dis
MB109512 M14x1,5Lht
MB378704

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

11

info@parsrot.com



—
sy L and

L200

MITSUBISHI

1986-1996

K

2005-2015

(K_T)
MI-20230 MI-11106
Salincak Burcu Rotil

Alt On Alt

MB109513 MB241818
(KA4T,KBA4T)
MI-11524 MI-13133

Rotil Rot Mili
On Alt On
MR496799 L=311mm-M16X1,5
4410A172
MI-13563  MI-12521
Rot Mili Rotbasi
On On Sag
Forvehiculeswithbadrodequipment M16X1,5
4410A173 MR508136
MI-16588  MI-16589
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Ust
4010A104 4010A103
MI-16598 MI-16599
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
4013A364 4013A363
MI-16618 MI-16619
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
4013A382 4013A381
MI-16588N  MI-16589N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Ust On Sol Ust
4010A104 4010A103

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land
L200 (KA4T,KBA4T)
MI-16598N  MI-16599N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
4013A364 4013A363
MI-16618N  MI-16619N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
4013A382 4013A381
MI-14146  MI-14147
Z-Rot Z-Rot
On Sag On Sol
L=65mm L=65mm
o MR992310  MR992309
MI-12522 MI-11525
Rotbasi Rotil
On Sol On Ust
A M16X1.5  MR4g6792
MR508135
MI-13203 MI-12302
Rot Mili Rotbasi
o On OnDis
PowerSteering M14x1,5-L=288mm INNER M14x1,5Lht
MB532971 MB288119
— MI-16226 MI-16225
s Rotilli Salincak Rotilli Salincak
b OnSolAlt  On Sag Alt
) MB598017  MB598018
MI-13204 HY-20227
Rot Mili Salincak Burcu
-y e On Alt
ManuelSteering M14x1,5Rht-L=293mm 5454043152
MR455425

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MITSUBISHI

2005-2015

parsrot.com

info@parsrot.com



Rot sy

= Land MITSUBISHI
L300 1982-1986
|
MI-12301
(=]
Rotbasi
On
MB616286
1986-2006
MI-11205 MI-11206 B
Roti Roi i
On Alt On Ust
MB176309 MB527349 .
aaﬂ! )
MI-12201 MI-14207
Rotbasi Z-Rot
On Dis On 0
M14x1,5Rht MB527385
MB527650
2nd Gen 1978-1982
|
MI-16128N  MI-16127N
Rotilsiz Salincak Rotilsiz Salincak
On Sol On Sag
MB109512 MB109513
|
MI-12101 MI-16128
Rotbasi Rotilli Salincak
On Dis On Sol Alt
M14x1,5Lht MB109512 ”
MB378704
|
MI-12102 MI-16127
Rotbasi Rotilli Salincak
On Sol ig On Sag Alt
M14x1.5Rht  \iB109513 *
MB166980
|
MI-11106  MI-11105 -
Rotl Rofi e
On Alt On Ust
MB241818 MB109585

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

o~
4

parsrot.com

=1
)
he)
2
w
@
[e]
S
(o)
[o]
3



Rot sy

== Land MITSUBISHI
L300 2nd Gen 1978-1982
|
MI-20230
- Salincak Burcu
Alt
_ MB109513
LANCER (CS,A) 2003-2008
| |
MI-19467 MI-13463
—_ Denge Kolu Rot Mili
Arka Ust On —
MR491911 M12X1,25-L=310mm
- MR491358
| |
MI-11464 MI-16468
Rotil Rotilli Salincak
On Alt On Sag Alt
MB518206 MR403420
| |
MI-16469 MI-14460
Rotilli Salincak Z-Rot
OnSolAlt  On [
A MR403419 M10x1,25-L=131mm %-'p
MR954887
| |
MI-14465 MI-20465K
: Z-Rot Z-Rot Kiti
Arka  Arka
m_é L=116mm  L=116mm
4056A037 4056A037
| .|
VOL-12441
Rotbasi
On
M12x1,25Rht
MB241982
LANCER CY2Aa[ICZ4A 2008-2017
|
MI-11734 MI-16479
Rotil Rotilli Salincak
On  OnSol Alt A
4013A444 4013A427

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 15 info@parsrot.com



Rot sy

LANCER

MI-13403
Rot Mili
On

M12x1,25-L=294mm

Mi-14411
Z-Rot

On

L=60mm
MB573043

MB532046
Mi-12401

MI-14410

= Land MITSUBISHI
LANCER CY2Aal1[ICZ4A 2008-2017
MI-16478 MI-11474
Rotilli Salincak Rotil
On Sag Alt On Alt
4013A428 4013A009
|
MI-12481 MI-13473
Rotbasi Rot Mili
On On
M14x1,5 M14X1,5-L=340mm
4422A052 4422A076
MI-19477 MI-19475
Denge Kolu Denge Kolu
Arka Alt Arka On
4113a011  L5165.5mm
MR491911
MI-19476 MI-14470
Denge Kolu Z-Rot
Arka Ust On
L=315mm L=265mm
4110A085 MN101368
MI-20369 MI-20368
Salincak Burcu Salincak Burcu
Arka Orta
4013A282 4013A282

1982-1987

|
- T
|
Rotbasi Z-Rot
On Arka
M12x1,25Rht Only:Carisma1.8lt L=75mm
MB241982 MB809354

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 16 info@parsrot.com



Rot sy

== Land MITSUBISHI
LANCER ]| 1982-1987
|
MI-11402
Rotil
On Alt
MB001696
LANCER v 1987-1992
| |
MI-11402
Rotil
On Alt
= MB001696
Yl
LANCER \' 1992-1996
|
MI-11402 MI-13423
Rotil Rot Mili =
On Alt On
MB001696 MR297969
|
MI-16428 MI-16427
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
MB912077 MB912078 p
|
MI-16429 MI-16430
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt A
|

Only:Dubai-IsraelMod.

Only:Dubai-IsraelMod.

MI-20228
Salincak Burcu
On

MB573524

Vi

MI-11774

Rotil

On Alt
* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

1996-2001

parsroticom~"

MR241342

17

info@parsrot.com



Rot sy

= Land MITSUBISHI
LANCER 1996-2001
|
MI-13423
P Rot Mil
on
MR297969
3rd Gen 1988-1992
|
MI-11402 MI-14410
Rotil Z-Rot
On Alt Arka
MB001696 Only:Carisma1.8lt L=75mm u
MB809354
|
MI-12401 MI-13413
Rotbasi Rot Mili
On On -
M12x1,25Rht 12x1,25Rht-L=293mm )
MB241982 MB553249
|
MI-14411 MI-20228
Z-Rot Salincak Burcu N
On On
L=60mm  \i5573524
MB573043
4th Gen 1993-1996
|
MI-16427 MI-16428
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
MB912078 MB912077 4
MIRAGE 4th Gen 1993-2002
| .|
MI-19724 MI-19725
TN Denge Kolu Denge Kolu =
ArkaSa§  Arka Sol
MR491348 MR491347

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 18 info@parsrot.com



Rot sy

MITSUBISHI
MIRAGE 6th Gen 2012 after
|
MI-13453
Rot Mili
On
4422A098
MONTERO 1982-1990

MONTERO

1990-2000

MI-12501 MI-14510
Rotbasi Z-Rot
Onig On
M16X1,5Rht MB584021
MB315776
MI-12504 MI-11506
Rotbasi Rotil
On Dis On Alt
M16x1,5Lht MB176308
MB315775
MI-14510 MI-12502
Z-Rot Rotbasi
On Onig
MB584021 M16x1,5Rht
MB831044
MI-12503 MI-11515
Rotbasi Rotil
On Dis On Ust
M16x1,5Lht MB860830
MB831043
MI-11516  MI-11517
Rotil Rotil
On Sol Alt On Sag Alt
MB831037 MR296270
MI-14511  MI-14512
Z-Rot Z-Rot
On Sag On Sol
L=80mm/M12x1.25 L=80mm/M12x1.25
MR267877 MR267876

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

mw Land MITSUBISHI
MONTERO ]| 2000-2007
——
MI-13523 MI-16538
Rot Mili Rotilli Salincak £
On On Sag Ust [ ‘:.
M16x1.5-L=205mm  ,000n 440
MR510267 o
——
MI-16539 MI-14526
Rotilli Salincak ~ Z-Rot :
On Sol Ust On Sag
4010A139  L=78mm
MR374522
——
MI-14527 MI-14528
Z-Rot Z-Rot
On Sol Arka Sag
L=78mm L=115mm u
MR374521 MR418053
I
Mi-14529 Mi-12522
Z-Rot Rotbasi
ArkaSol  On Sol w
L=115mm M16X1,5 T
MR418052 MR508135
I
Mi-11524 Mi-12521
Rotil Rotbasi
OnAlt  OnSag w
MR496799  M16X1.5 o
MR508136
MONTERO \Y 2007 after
I
MI-11524 MI-11525 S
Rotil Rotil
On Alt On Ust
MR496799 MR496792
MI-13533 MI-12531
Rot Mili Rotbasi
On On Sag
M16x1.5/L=189MM M16x1.5
4422A036 4422A038

parsrot.com

20

info@parsrot.com



Rot sy

== Land MITSUBISHI
MONTERO 2007 after
MI-12532 MI-14534
Rotbasi Z-Rot
On Sol On Sag
M16x1.5 L=78mm
4422A037 MR992192
MI-14535 MI-14536
Z-Rot Z-Rot
On Sol Arka Sag
L=78mm L=115mm
MR992191 MR418053
|
MI-14537 MI-16539
Z-Rot Rotilli Salincak
Arka Sol On Sol Ust
L=115mm - 4910A139
MR418052
MI-16538
Rotilli Salincak
On Sag Ust
4010A140
2001-2006
|
MI-13483 MI-11464
Rot Mili Rotil
On On Alt
M14x1.5-L=322mm MB518206
4422A057
|
MI-14482 MI-12481
Z-Rot Rotbasi
On On
4056A040 ~ M14x1.5
4422A052
2006-2012
|
MI-12481 MI-11474
Rotbasi Rotil
On On Alt
M14x1.5 4013A009
4422A052

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land
OUTLANDER I
MI-16478 MI-16479
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
4013A428 4013A427
|
MI-14487 MI-14486
Z-Rot Z-Rot
Arka Sol Arka Sag
L=80mm L=80mm
517848 MN184194
MI-19477 MI-13483
— Denge Kolu Rot Mili
Arka Alt On
4113A011 M14x1.5-L=322mm
4422A057
MI-20368 MI-20369
Salincak Burcu Salincak Burcu
Orta Arka
4013A282 4013A282
|
MI-14470
Z-Rot
é i On
L=265mm
MN101368
OUTLANDER ]|
|
MI-14470 MI-20369
Z-Rot Salincak Burcu
6 i On Arka
L=265mm  4513a282
MN101368
|
MI-20368 MI-13483
Salincak Burcu Rot Mili
Orta On
4013A282 M14x1.5-L=322mm
4422M057

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MITSUBISHI

2006-2012

2012 after

parsrot.com

22

info@parsrot.com



Rot sy

= Land MITSUBISHI
OUTLANDER I 2012 after
. |

MI-19497 MI-19496

Denge Kolu Denge Kolu —
Arka On Arka Alt
4117A050 4113A136
MI-14487 MI-11734
Z-Rot Rotil

Arka Sol On
L=80mm  4913A444
517848
MI-16479 MI-16478
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
4013A427 4013A428
MI-11474 MI-12481
Rotil Rotbasi
On Alt On
4013a009 ~ M14x1.5
4422A052
(GAW)
MI-12481 MI-11474
Rotbasi Rotil
On On Alt
MIBAS 4013009
4422A052
MI-16478  MI-16479
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
4013A428 4013A427
MI-14487 MI-14486
Z-Rot Z-Rot
Arka Sol Arka Sag
L=80mm L=80mm
517848 MN184194

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

info@parsrot.com



Rot sy

= Land MITSUBISHI
Outlander Sport (GAW) 2010 after
|
MI-13473 MI-19477
Rot Mili Denge Kolu =
— = On Arka Alt
M14X1,5-L=340mm 4113A011
4422A076
| |
MI-14470
Z-Rot
6 ; On
L=265mm
MN101368
PAJERO | 1982-1990
MI-11506 MI-12504
Rotil Rotbasi
On Alt On Dis
MB176308 M16x1,5Lht
MB315775
MI-12501 MI-14510
Rotbasi Z-Rot =
Onig On
M1BX1.5Rht  \1B5g4021 4
MB315776
.|
MI-16644
Rotil
On Ust
MR241024*
Il 1990-1999
|
MI-14510 MI-12502
Z-Rot Rotbasi
On Onig
MB584021 M16x1,5Rht
MB831044
MI-12503 MI-14512
Rotbasi Z-Rot
On Dis On Sol
M16x1,5Lht L=80mm/M12x1.25
MB831043 MR267876

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

24

info@parsrot.com



Rot sy

= Land MITSUBISHI
PAJERO Il 1990-1999
|
MI-14511 MI-14513
—— Z-Rot Z-Rot —
On Sag Arka
L=80mm/M12x1.25 MB598098
MR267877 :
PAJERO ]| 2000-2007
| |
MI-13523 MI-14526
RotMili  Z-Rot :
E@ On  OnSag
M16x1.5-L=205mm L=78mm
MR510267 MR374522
| |
MI-14528 MI-14527
Z-Rot  Z-Rot !
Arka Sag On Sol
M L=115mm L=78mm
MR418053 MR374521
| |
MI-11524K MI-16578
Rotil Kiti Rotilli Salincak
OnAlt  OnSag Alt
MR496799 MR496796
MI-16579 MI-16578N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
MR496795 MR496796
MI-16579N  MI-14520
Rotilsiz Salincak Z-Rot
On Sol Alt Arka
MR496795 MR555883
|
MI-14529 MI-12522
Z-Rot Rotbasi
Arka Sol  On Sol w
L=115mm M16X1,5 T
MR418052 MR508135

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

25

info@parsrot.com



Rot sy

= Land MITSUBISHI
PAJERO 2000-2007
MI-12521 MI-11515 -
Rotbasi Rotil ﬁ
w On Sag On Ust
g M16X15  \iBss0830
MR508136
PAJERO 2007 after
MI-11524 MI-11525
Rotil Rotil
On Alt On Ust
MR496799 MR496792
MI-13533 MI-12532
Rot Mili Rotbasi
On On Sol
M16x1.5/L=189MM M16x1.5
4422A036 4422A037
MI-12531  MI-14537
Rotbasi Z-Rot
On Sag Arka Sol
M16x1.5 L=115mm
4422A038 MR418052
MI-14536  MI-14535
Z-Rot Z-Rot
Arka Sa§ On Sol
L=115mm L=78mm
MR418053 MR992191
|
MI-14534 MI-16540
Z-Rot Rotilli Salincak
On Sag On Sag Alt
L=78mm  4513A210
MR992192
|
MI-16541 MI-16540N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
4013A209 4013A210

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land MITSUBISHI
PAJERO 2007 after
MI-16541N  MI-16539
~~ Rotilsiz Salincak Rotilli Salincak
On Sol Alt On Sol Ust
4013A209 4010A139
|
MI-16538
Rotilli Salincak
On Sag Ust
4010A140
PAJERO PININ 1999-2007
|
MI-11515 MI-11517
Rotil  Roil d
On Ust On Sag Alt 4 3
MB860830 MR296270
|
MI-11516 MI-13553
Rotil Rot Mili
On Sol Alt On -— g5,
MB831037 M14x1.5-L=346.7mm
MR448255
|
MI-14550 MI-14411
Z-Rot Z-Rot
Arka On
MR510319  L=60mm
MB573043
.|
MI-12301
Rotbasi
On
MB616286
2006-2009
|
DO-14300 CR-12301
Z-Rot Rotbasi
On On Dis
5135731AC 68141049AA

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land MITSUBISHI
RAIDER UG 1997-2003
|
MI-14637 MI-14636
Z-Rot Z-Rot
On Sol On Sag
_ 4056A034 4056A035
1998-2004
|
MI-12711 MI-13713
Rotbasi Rot Mili
On On =%
M12x1,25 M12x1,25-L=316,5mm
MR485672 MR403027
SPACE WAGON UG 1997-2003
| .|
MI-14636 MI-14637
Z-Rot Z-Rot —
On Sag On Sol
4056A035 4056A034

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

28

info@parsrot.com






